BASIN PRICE BREAKSOWN						
BASIN LOCATION	PRICE					
Coolidge Street	\$	11,798.14				
Taft Street	\$	33,006.32				
McKinley Street	\$	10,126.11				
Minnesota Street	\$	22,098.22				
Michigan Street	\$	16,372.17				
Indiana Street	\$	4,722.06				
Pierce Street	\$	5,760.08				
Tyler Street	\$	15,990.17				
Ocean Palms	\$	28,820.15				
Diplomat Resort	\$	71,760.27				
TOTAL 10 BASINS	\$	220,453.69				



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person: Sarita Shamah, P.E.
Contact Phone: 954-924-2980

954-924-2980 Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Coolidge Basin

In accordance with your request, we are pleased to submit the following proposal:

Item#	<u>Description</u>	<u>Unit</u>	Qty	<u>Ur</u>	nit Price	Ext	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	595	\$	3.50	\$	2,082.50
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	92	\$	5.00	\$	460.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	595	\$	4.50	\$	2,677.50
8	Pipe cleaning (24 to 36 inch in diameter)	LF	92	\$	9.00	\$	828.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	13	\$	0.01	\$	0.13
26	De-watering using De-watering pumps	EA	11	\$	500.00	\$	5,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
				<u> </u>		\$	11,798.14

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- · This Proposal excludes all permits, off-duty police
- This i roposal excludes all permits, on-duty poince

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person: Sarita Shamah, P.E.
Contact Phone: 954-924-2980

954-924-2980 Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name:

Taft Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	Unit Price		Exte	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	842	\$	3.50	\$	2,947.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	930	\$	5.00	\$	4,650.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	1
7	Pipe cleaning (15 to 18 inch in diameter)	LF	842	\$	4.50	\$	3,789.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	930	\$	9.00	\$	8,370.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	31	\$	0.01	\$	0.31
26	De-watering using De-watering pumps	EA	26	\$	500.00	\$	13,000.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
						\$	33,006.32

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- Price includes routine cleaning, specialty cleaning will be priced separately.
- This Proposal excludes all permits, off-duty police
- This Proposal excludes all permits, on-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

A1A Hollywood Beach Date: 3/27/2025

Hollywood Community Redevelopment Agency **Customer Name:**

1948 Harrison Street Hollywood, FL 33020 **Customer Billing Address:**

Contact Person: Sarita Shamah, P.E. **Contact Phone:** 954-924-2980

Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: McKinley Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	Qty	Uı	nit Price	Ext	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	382	\$	3.50	\$	1,337.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	130	\$	5.00	\$	650.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	
7	Pipe cleaning (15 to 18 inch in diameter)	LF	382	\$	4.50	\$	1,719.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	130	\$	9.00	\$	1,170.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	10	\$	0.01	\$	0.10
26	De-watering using De-watering pumps	EA	10	\$	500.00	\$	5,000.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
	<u> </u>					\$	10,126.11

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- This Proposal excludes all permits, off-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person:Sarita Shamah, P.E.EVContact Phone:954-924-2980Broward

Contact Person Email <u>sshamah@hollywoodfl.org</u>

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Minnesota Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	<u>Unit Price</u>		Exte	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	510	\$	3.50	\$	1,785.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	662	\$	5.00	\$	3,310.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	510	\$	4.50	\$	2,295.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	662	\$	9.00	\$	5,958.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	21	\$	0.01	\$	0.21
26	De-watering using De-watering pumps	EA	17	\$	500.00	\$	8,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
						\$	22.098.22

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- This Proposal excludes all permits, off-duty police
- This Proposal excludes all permits, on-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person:Sarita Shamah, P.E.EVContact Phone:954-924-2980Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Michgan Basin

In accordance with your request, we are pleased to submit the following proposal:

Item#	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	Uı	nit Price	Exte	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	474	\$	3.50	\$	1,659.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	345	\$	5.00	\$	1,725.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	474	\$	4.50	\$	2,133.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	345	\$	9.00	\$	3,105.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	16	\$	0.01	\$	0.16
26	De-watering using De-watering pumps	EA	15	\$	500.00	\$	7,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
						\$	16,372.17

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- Price includes routine cleaning, specialty cleaning will be priced separately.
- This Proposal excludes all permits, off-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Broward

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person: Sarita Shamah, P.E.
Contact Phone: 954-924-2980

554-524-2500

Contact Person Email <u>sshamah@hollywoodfl.org</u>

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Indiana Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	Unit Price		Exte	nded Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	110	\$	3.50	\$	385.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	78	\$	5.00	\$	390.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	110	\$	4.50	\$	495.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	78	\$	9.00	\$	702.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	5	\$	0.01	\$	0.05
26	De-watering using De-watering pumps	EA	5	\$	500.00	\$	2,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
	1		<u> </u>			\$	4,722.06

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- Price includes routine cleaning, specialty cleaning will be priced separately.
- · This Proposal excludes all permits, off-duty police
- This i reposur excitaces an permits, on-auty ponce

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person:Sarita Shamah, P.E.EWSG Quoting OfficeContact Phone:954-924-2980Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Pierce Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	Uı	nit Price	Exte	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	165	\$	3.50	\$	577.50
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	85	\$	5.00	\$	425.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	165	\$	4.50	\$	742.50
8	Pipe cleaning (24 to 36 inch in diameter)	LF	85	\$	9.00	\$	765.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	7	\$	0.01	\$	0.07
26	De-watering using De-watering pumps	EA	6	\$	500.00	\$	3,000.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
<u> </u>				-		\$	5,760.08

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- · This Proposal excludes all permits, off-duty police
- This Proposal excludes all permits, on-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Broward

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person: Sarita Shamah, P.E.
Contact Phone: 954-924-2980

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Tyler Street Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	<u>Ur</u>	nit Price	<u>Ext</u>	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	140	\$	3.50	\$	490.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	580	\$	5.00	\$	2,900.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	0	\$	8.00	\$	-
7	Pipe cleaning (15 to 18 inch in diameter)	LF	140	\$	4.50	\$	630.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	580	\$	9.00	\$	5,220.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	0	\$	20.00	\$	-
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	16	\$	0.01	\$	0.16
26	De-watering using De-watering pumps	EA	13	\$	500.00	\$	6,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
						\$	15,990.17

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- · This Proposal excludes all permits, off-duty police
- This i roposal excludes all permits, on-duty poince

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

Date: 3/27/2025 A1A Hollywood Beach

Customer Name: Hollywood Community Redevelopment Agency

Customer Billing Address: 1948 Harrison Street Hollywood, FL 33020

Contact Person: Sarita Shamah, P.E.
Contact Phone: 954-924-2980

Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Ocean Palms Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	<u>Ur</u>	nit Price	Ext	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	230	\$	3.50	\$	805.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	1,055	\$	5.00	\$	5,275.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	195	\$	8.00	\$	1,560.00
7	Pipe cleaning (15 to 18 inch in diameter)	LF	230	\$	4.50	\$	1,035.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	1,055	\$	9.00	\$	9,495.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	195	\$	20.00	\$	3,900.00
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	14	\$	0.01	\$	0.14
26	De-watering using De-watering pumps	EA	13	\$	500.00	\$	6,500.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
			ļ.			\$	28,820.15

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- Price includes routine cleaning, specialty cleaning will be priced separately.
- · This Proposal excludes all permits, off-duty police
- This i reposur excitaces an permits, on-auty ponce

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

EnviroWaste Services Group, Inc.
Submitted by
Michael Rothenberg, Operations Manager
Printed Name & Title
3/27/2025
DATED



Estimate / Agreement

Jobsite Address

EWSG Quoting Office

A1A Hollywood Beach Date: 3/27/2025

Hollywood Community Redevelopment Agency **Customer Name:**

1948 Harrison Street Hollywood, FL 33020 **Customer Billing Address:**

Contact Person: Sarita Shamah, P.E. **Contact Phone:**

954-924-2980 Broward

Contact Person Email sshamah@hollywoodfl.org

Customer Contract #: Fort Lauderdale Piggyback #12520-813-Stormwater Cleaning and Maintenance Services

Job Reference Name: Diplomat Basin

In accordance with your request, we are pleased to submit the following proposal:

Item #	<u>Description</u>	<u>Unit</u>	<u>Qty</u>	<u>Ur</u>	nit Price	<u>Ext</u>	ended Price
1	Mobilization/MOT	EA	1	\$	0.01	\$	0.01
3	Stormwater Cleaning and Maintenance's and Pipe Assessment (15-18 inch in Dia.)	LF	566	\$	3.50	\$	1,981.00
4	Stormwater Cleaning and Maintenance's and Pipe Assessment (24 to 36 inch in Dia.)	LF	843	\$	5.00	\$	4,215.00
5	Stormwater Cleaning and Maintenance's and Pipe Assessment (42 to 72 inch in Dia.)	LF	1,435	\$	8.00	\$	11,480.00
7	Pipe cleaning (15 to 18 inch in diameter)	LF	566	\$	4.50	\$	2,547.00
8	Pipe cleaning (24 to 36 inch in diameter)	LF	843	\$	9.00	\$	7,587.00
9	Pipe cleaning (Over 36 inch in diameter)	LF	1,435	\$	20.00	\$	28,700.00
14	Cleaning of Catch Basins, Inlets, Manholes, Pollution Control Devices, Back Flow Preventer and Other Storm Structures.	EA	26	\$	0.01	\$	0.26
26	De-watering using De-watering pumps	EA	30	\$	500.00	\$	15,000.00
32	Turbidity Curtain (Installation at outfall)	LF	25	\$	10.00	\$	250.00
						\$	71,760.27

SCOPE OF WORK DESCRIPTION:

Dewater storm lines and associated structures - Clean inlets /structure - Clean and CCTV connecting pipes

Estimated quantities will invoice with actual field quantities.

All quotes/prices are valid for 30 days of acceptance of this proposal by the Customer. After 90 days EWSG reserves the right to adjust the price.

- · Report with recommendations for repairs are included
- Water supplied by others (if needed).
- · Price includes routine cleaning, specialty cleaning will be priced separately.
- This Proposal excludes all permits, off-duty police

Customer Provided Labor: Where the Customer provides labor for EWSG, the Customer will indemnify EWSG for liability, loss or expense for work related injuries to those laborers not provided by EWSG. The Customer agrees to waive all rights to subrogation against EWSG arising out of the work in the Agreement.

Customers Responsibilities: Customer will provide mechanical services. Operation and control of Customer's equipment is the Customer's responsibility. If EWSG cannot continue its work due to circumstance caused or allowed by Customer and of which EWSG was not apprised prior to starting the work, an hourly fee will be charged.

Damage Limitations: Under no circumstances will EWSG be responsible for indirect, incidental or consequential damages. EWSG also is not responsible for the rendering of or failure to render architectural, engineering or surveying professional services.

Pre-existing Conditions: EWSG will not be responsible for liability, loss or expense (including damage caused by the backup of basement sewers or the use of fire hydrants) where the primary cause of the claim or damage is pre-existing conditions including faulty, inadequate or defective design, construction, maintenance or repair of property or contamination of the subsurface where the condition existed prior to the start of EWSG's work. Customer is responsible for loss of service equipment caused by the pre-existing conditions on the job site.

Environmental Conditions: The debris is represented to EWSG to be non-hazardous, requiring no manifesting or special permitting. The Customer will be responsible for any additional costs or claims associated with treatment, storage, disposal of the removed debris, or breach of the above representation, at any time during or after the completion of this project.

Indemnification: The Customer and EWSG will each indemnify the other in proportion to relative fault for liability, loss and expense incurred by the other party resulting from a negligent act or omission in performance of work under this Agreement. The Customer also will indemnify EWSG for liability, loss and expense resulting from EWSG's services if EWSG is acting at the direction or instruction of the Customer, or where the primary cause of any damages is due to information provided by the Customer.

Limitation of Liability: Notwithstanding anything herein to the contrary, EWSG's liability arising under this agreement or relating to this work shall not exceed the aggregate amounts paid by Customer to EWSG under this agreement. The foregoing sentence is the entire liability and obligation of EWSG with respect to any liability hereunder, including, without limitation, incidental, special, consequential, punitive, aggravated, exemplary, liquidated or delay damages.

Payment Terms: Company will invoice Customer monthly or upon completion of the scope of services. Customer's payment terms will be in US Dollars and paid in full thirty (30) days after invoice date. In addition to any other remedy available to Company for late payments, Customer will be obligated to pay Company interest for fees and charges not paid within 45 days from invoice date at the compounded interest rate of 1-1/2% per month or the maximum allowed by law, whichever is less for each month (or partial month), calculated from the date such payment was due until the date paid. Customer will be responsible for any costs, including attorney's fees, incurred by the Company in collecting any past due amounts under this Agreement.

Sectional Installation: Customer acknowledges the installation of a Sectional Liner for the purpose of rehabilitating a damaged pipeline does not guarantee additional repair work will not be required even with proper installation. Should it be determined additional repair work will be required EWSG will provide additional services as agreed upon with the Customer. Such costs for additional services will be born by the customer and agreed upon in writing prior to the initiation of additional work.

Entire Agreement: This proposal together with any written documents which may be incorporated by specific reference herein constitutes the entire agreement between the parties and supersedes all previous communications between them, either oral or written. The waiver by EWSG of any term, condition or provision herein stated shall not be construed to be a waiver of any other term, condition or provision hereof.

CUSTOMER APPROVAL	EnviroWaste Services Group, Inc.
Customer Signature	Submitted by
	Michael Rothenberg, Operations Manager
Printed Name & Title	Printed Name & Title
	3/27/2025
DATED	DATED